
Soustraction Avec Des Zéros (H)Calculez la différence.
100 100- 20 - 82 - 479

100 100- 834 - 90 - 61
100- 4 - 506 - 145
100 100- 29 - 58 - 1 - 549

100- 58
100- 213 - 32 - 312

100 100- 88 - 346 - 289 - 24
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10 000 1 000- 4 699
1 000 10 000- 9 860

10 000 1 000 1 000- 6 749
1 000 1 000

10 000 10 000 10 000- 4 644 - 1 735 - 4 033
1 000 10 000 10 000- 3 813

1 000 1 000



Soustraction Avec Des Zéros (H) RéponsesCalculez la différence.
100 100- 20 - 82 - 47980 18 521100 100- 834 - 90 - 61166 140 10 39100- 4 - 506 - 14596 494 855100 100- 29 - 58 - 1 - 54971 42 999 451100- 5842100- 213 - 32 - 312787 68100 100- 88 - 346 - 289 - 2412 654 711 76
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10 000 1 000- 4 6995 3011 000 10 000- 9 860
10 000 1 000 1 000- 6 7493 251 1 000 1 000

10 000 10 000 10 000- 4 644 - 1 735 - 4 0335 356 8 265 5 9671 000 10 000 10 000- 3 8136 187 9 6881 000 1 000


